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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]

7.0

6.8 1

6.6 -

6.4 -

6.2

6.0 -

ning: col

[’ PHC' ,

"FVIPH' ]

is| missing

10

20

30

40

50

60

70
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Trend plot forP3-14 0
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P3-14

BiE | GEBRK @) | ERE(EA/R | ERREB/R) (XS ERE
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=2it1]6336.0 (22:%) 3300.0 #2i33#%EC: 2080.0, PH: 6.0
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FRV (ml plant-1)

ET (ml/hr/plant)

P3-14_0, Day=72 (2025-06-11)
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P3-14
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P3-14

BYiE) | GEREKE) | Els (EA/H) | EBREE B/ R | X8 ERR

06:20 283 150.0 2.888 BE| {RRi%e06:20 B (REAEHE)
06:50 283 150.0 2. 888 BE| {RRi%e06:50 Bz (REEHSE)
07:40 283 150.0 2.888 RS 1Rige07:40 Bzh (REEESE)
08:25 283 150.0 2.888 RS {Ri&e08:25 Bz (RFEMERSE)
09:05 283 150.0 2. 888 RS {RRi%@09:05 Bz (REEREE)
09:40 283 150.0 2.888 A5 {Ri%@09:40 Bz (REERER)
10:15 283 150.0 2.888 BE| Rige10:15 Bal (REAEHSE)
10:45 283 150.0 2.888 RS {Rig@10:45 Bz (REAERSE)
11:15 283 150.0 2.888 S| Rige11:15 Bz (REERRSR)
11:45 283 150.0 2.888 B Rige11:45 Bz (REAERSE)
12:15 283 150.0 2.888 BE| Rige12:15 Bz (REAERE)
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